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ST Aigd &1 W91-3

(Exam date : 23-09-2018)

1. Indifference curve is related to:
AT Tk HaTd §
(a) cardinal approach/HEATdTEH @@UT g
(b) Ordinal approach/sFHaTE FEHITT T
(c) Combinations of multiple commodities
Fgaegel & A §
(d) Only one combination of two commodities
2 FEGeA & Hhad TH AN G
Ans. (b) : & A1 T § 1 awqe & T WA A1 I
F weRfd & aren 9% FEE IudE & 9 98
T @, §W A 9k, SERME a% A1 qetdd a%
FEAT 21 g9 el s §-
o IUIH faayul 3
o 3§ uRRefdEt & qof 9. 21
* FHHIEE HIT G g
o fad FHHEET R RT3
o 78 sl SRR # W & W) aeia 2|
2. In the case of inferior goods:
&= weref & wasf
(a) Both income effect and substitution effect are
negative/3Td J9d TIT fTEAOH JHE )
FUTHF B &
(b) Substitution effect is positive but income
effect is negative/SfRATO F918 & foheg
T TA1S FOMHS B 2|
(c) Substitution effect is negative
SR ST TR el & |
(d) Both income effect and substitution effect are
positive/3Td 9 Tl FfaRATIT FF &A1

YT B §
Ans. (b) : &7 =1 "fean Fgel & G=d # o wywE
TV BT & 31T 3T dg W 3IF a%] H AT F B
A @ qYT ACRAGT AHE GAAS BT @ i 39y
e a%] (IS aw) A A 9 S 8

3. Under which condition, a competitive firm in
short run will stop production? When price is:

T& WATs W, euse W TR
uRfterfersit # Scute sig Y 7 & i §-
(a) Less than AVC/TAL.. ¥ &7

(b) Equal to AC/T.HI. & TR

(¢) Equal to MC/WH. . & s

(d) Greater than AC/T.E!. T 31fers
Ans. (a) : T qof wfoarft od, srousrar # afx stoedt
3figd gRad=eier Al (AVC) i off T g R @
2 Al 9 Seaed &G ag Y il $iua Ak AVC § %9
& aaed g off Fed 81 ew Rufy # o s
T N W IAN BISH AL Tl o Fell A F A
T
4. Who amongst the following developed the

concept of 'Group Equilibrium'?

e @ @ foram ‘wyg d@gem’ @ ye fean

or?

(a) Hicks/feg =

(b) Shraffa/sTT 3

(c) Joan Robinson/ST= Tfe=g =

(d) Chamberlin/=wRferT 3
Ans. (d) : THUHRS Sf=far # =men & fau o
TERICH T I GO H A i &1 T T w5
Hftafem &9 8 S fordt a%g @ ST & AW T
LT BT I B W
5. Consider the following factors:

frrefafaa ae W e ffa-

1. Price/@iad 2. Income/3TA

3. Depreciation/&T

Which of these are more important in
influencing the demand for durable goods.
Answer from the codes given below:

30 | feahts: agsil &t wiv i gunfad & |
A SIfUw Heayut §7 o e % ¥ swW
difvre-

Codes/se

(a) All the above/ifq?i?ﬁ g4t

(b) 1and2/1 92

(c) 2and 3/2 93

(d) Only 3/%aa 3

Ans. (a) : T% 9T T awu @ Hw a7
QR Tl ST EHA §1 T Fid, S q9r & A
T el 21 feH AT awqeil % Tid-gheR, U,
fiper, 1.1 enfx &t wnfrer fpan ST 21
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6. Which one of the following is not the
assumption of Cardinal approach to utility
analysis?

g & @ &9 Tw SumifiEr favemwr o
HEHTaTeIh Sehtur Shl W=t =gt &7
(a) Utility is measurable in terms of money
SYAI qa7 % &9 & A9 2
(b) Marginal utility of money is constant
T S G ST fReR 7
(c) Consumer is a rational person

SRR T faaseliet &5tk 7 |

(d) Consumer does not know the price of
commodities.

SYHIHT TEGH B qed T ST 2

Ans. (d) : SYAAET fovawo & GeEEs 3w &

sfodreT 9. Wi 3 R or- sEe fefeiad Fra 8-

o IUAMET WOHT & T G % ®Y ¥ o fhA
Tehell 2|

o 1 F A STRFT R 2

o I9RH feaensiier 21

o Jg Umr IYEME B M W osHia B e
faheq D SURTET & ST gf¥eioT # A T
2l

7. For a firm in a perfectly competitive market,
the average and marginal revenue curves
coincide because:

T wH & fe gul gfeeifides e #,
i iR i e 9 T W A Y,
HAifen:
(a) the firm is price taker
& Fa T A 2
(b) there are constant returns to scale
el T % wfe fiem 2 €
(c) there are constant returns to scale to some of
the factors

T8 FB WEAl & Hoy § 9 % qfed R

GET IT ON
Google Play

8. Which one of the following curves is not U

shaped?

e o 9 %9 T U STeRr T §72
(a) The AVC curve/dsh

(b) The AFC curve/dsh

(c) MC curve/dsh

(d) AC curve/dsh

Ans. (b) : 3iEad Rex AN 3k IADBR ATHRAAIHR
T ¢ s I g W A # A" IR F e
g 21 ¥ At SR A= fiear gen @ 21 feg T
YR 3787 T et wqef &
Y F 3
ST
AFC
0 T >x
9. Which one of the following is not an
indivisibility mentioned by Rosenstein Rodan?
Indivisibility of
WAL T F=fefiaa § 9 faw sfawrssar
T e Tl e &7 SfrHTran-

(a) Demand/HiT &t

(b) Production function/3& Held i
(c) Savings/a=dl &l

(d) Investments/fasT &

Ans. (d) : M. TGS TS = &4 JHR St Afrereaansii
I ST B

* IAE el i TSIl

o T & HfareAdr

* g # g A TSI

TeM & oER fedt ot eefeeen &

| - . .
(d) ???s%aconditions of profit maximisation ot X w1 % o wen F freer 2
g T AT B T T SRR Tt 2|
Ans. (d) : T Tﬁ TR B & sitaa qar @/ | 10-  If the demand function is p = —4x+27, find the
T 9% T q9T SER ST % TR 2N ¥ e e elasticjty of demand when p =3 )
mmﬁwﬁ%,ﬁmmmmﬁ W&WW%p=—4x+27ﬁﬁp=3ﬂTﬂ‘ﬂT
§1 3 4 g A R swET TR a9 T § T A A
v 4 (a) 2.0 (b) —2.0
(c) 0.5 (d) -05
P AR =MR Ans. (¥) : 517 ®eH p = —4x +27
P=3 @ W
Ha 3=—4x+27
4x =27-3
0 > X 4x =24
T x=6
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dP

—4x+27 T x F HUEY HFh Hid W —
X
o P 3_1

_(injz -
dp Q -4 6) 24 8
In the long period, in which of the following
market conditions, a firm will not have excess
capacity in production?
drederrer § frefefaa § @ fora s farfer o
HH & IAET H IS LHAT AT @l
grm?
(a) Imperfect c0mpetition/\’ﬂ'ﬁ_[fﬂt s
(b) Perfect competition/gut e
(c) Monopoly/THITEhR
(d) Monopolistic Competition

TR ST
Ans. (b) : o SRrfr & srarla dHeA @1 SHea
AU BT @ qAT 3T AN F FAH fog W IR
fopar St @1 R sifrehem wrIfSR Hemor & Wit &
o qol Sl # Scaed & & SMfYed & oerME
BT 21

12.

4

i & A= -

11.

What is true for collusive oligopoly?
HUSYUT STATRIRT o T o Teh | &2

(a) No agreements are made

Ans. (¢) : THIEHR & 9 H TMeHad g 1 Id-

Who amongst the following emphasized the
role of time in market equilibrium?

frefafea o o fea srdmeft 3 IR d@ga

H 99T o g W A fgar?

(a) A. Marshal/T AT (b) 1. Fisher/3TE.fh¥R

(c) L. Walras/Ta.ara@  (d) A. Smith/T,Rae
Ans. (a) : 1. AR 4 IR Hqe § 99T H MAfHEd
SeH | IR q9T H 4 9 A fawfee fwam

14.

* AHfq eqehIeA * 3eqHA
o JEHA o 3fy S
15. Diamond water paradox is mainly related to

EU-wrer forlrense g gett §-
(a) Utility/STfTr & (b) Scarcity/geiear &
(¢) Cost/amTa ¥ (d) Welfare/&eamT @

Ans. (a) : 80 9 faQenT & gfoqeT 9. weH fomg F
fFam om) 7% dw SENfI A Fa Iwf % wed
Y i ek Bl B

16.

Under what situation, the demand curve is
likely to witness a positive slope?

fra fafs & wim o & s @ Rafa
TR B hl GTEHT §7

(a) War/gs

1 quEid T&i Y ST 21 (b) Giffen Paradox/ Tifts faemsre
(b) Each seller is a price leader (c) Speculation/Hgl
S farshel SHHd AT B 21 (d) All of the above/SHIH Tt
(c) Each firm is a dominant firm Ans. (d) : T 3= a1 g9 W@ @ AT 9% 9 G QA
ToIF GF sad B9 2 2 AR A frar gem @ @ 6 4w, T, weamh,
(d) Tacit agreements are made fifth g, SfoerEes a9 e & g § w9 o9
3Fhe THE T S 21 FT A FIHH Bl 2|
Ans. (d) : HICYUT STCUMYHR HASA & F=id ®H 39d||17.  Price discrimination is possible under the
T R fdar 9§ saag effyaar & F & U following conditions:
Wﬁmmmﬁmgﬂgﬂ@a% Frrefafae uiiftfaat & sma fade dag 2-
SRS Gagia & afwdid fomr smaa-gee R famst i. Market imperfections/ STSIR STqUiaTl
T &H 399 H S gHAT HL At & q91 HEd, I ii. Agreement between rival sellers
e & &y § Th GHE AT H GO BT &1 SHH Jfaggt fersharsti & sfier wgwfdl
QU 3T 2 Fiud g | iii. Ignorance of buyers/ShelTil T STAMI
13.  Profit of a monopolist is maximum when iv. When there is no product differentiation
TEHTTIRTY T TS TR ZAT - T IATE § IS 3= TE B
(a) marginal cost = Average revenue Choose the correct answer from the given
T AT = 3itEd 3 codes: .
(b) Average cost = Average revenue = ﬁ"{ @ # | w3 ﬂ'ﬁ'ql
3ited AT = 319 3T Codes/se
(c) Marginal cost = Marginal revenue (a) 1, il and iii/ i, ii T iii
M= @I = e 3T (b) ii, iii and iv/ i, iii T iv
(d) Marginal revenue = Average revenue (c) i, iii and iv/ i, iii T iv
e 3 = S () i, i and iv/ i, ii T iv
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Ans. (a) : FHq fasg &t el aemeA 8-

* A ST

o sfag=at faskareli & ft= wenfa

* YA AL

o quinfo=ifiraT 1 37

18. Indicate the assumption of bilateral monopoly:
fauefrar wertfrert ot \T=ramstt Rl 3T st

(a) There is a single commodity with no
substitution

fomr wfereeme= & Faat T awq)
(b) The monopolist is its sole producer or seller
SHhl Hhddl IUlGsh T m él

(c) The monopolist is its only buyer
TS I SR Hael el 2|
(d) All of the above/SWIh T |
Ans. (d) : Bl THRER SR & 9 BHET § Sel o
&1 T W Sl A1 Th A fshdr 2 21 e wehiemR
& 3ia A S FEa H1 Fafor TR o s
AT & O T % g FuiRe g 8|

19.

In which of the following markets kinked
demand curve is witnessed?

e o ® form O o fagsfoa @i ok uman
e £7

(a) Monopolistic competition/TehRIHRIES HRNRTT
(b) Monopoly/TsHIEHR

(c) Oligopoly/3TeHTiEihR

(d) None of the above/SWE & T Hig Tal

Ans. (c) : fG&faa Al 9% F1 gfaues gEavgw ofd @i
I fEa O T SURER TR & wE e 2
fogpfoa A 9% & W F T A d=ER aar =
1 el A SelrEar i & |
Y“
e P K
ed
0 p— »x
20. In the case of substitutes, cross elasticity of
demand is
gfereenfia aegel o Hd |, AT @ IS e
Bt §

(a) Constant/fEeR

(b) Positive/gdTHb

(c) Negative/ThRIHS

(d) (b) and (c) both/(b) T (¢) FT

Ans. (b) : FEIE i & el A
TTh - FUTH
i - A
EIRESICIEE N ATHS
21. Which of the following statements is not

correct for the classical macro economics?

frafafas § @ &9 ¥ ®u9 FonfasE q\ iy

aredymrer & forg wdt =@ &7

(a) Savings and investment depend upon the rate
of interest.

Tad 9 f49w = @ W v @ 2

(b) Money does affect the
employment

5T TSR & TR HT FAET Faf bt 21
(¢) The prices are rigid/@wd w18 gl
(d) There can not be over-production in the long
run/SefeTe # SAf-3careT TEl & Gebarl
Ans. (c) : Felrteha stefenfadi 3 em9w qui TR fagid
& ST FAd, TeRRAl, SR dH HI uRad-eie J
t Fos ufvmesy sdorawn § @9 aen &8 o
fome @ R & TE SR srderatn wia qul IR
F FaEen § WA TR AU qX H dew
UM § o7 G ATt W) Sid-371, Seqed, TSR
STfer A& T |
228

not level of

On the liquidity preferences curve as we move
up, which of the following is true? The
opportunity cost of holding money balances.

TS AT A ek T el F FW Al AR

wrera € A freferiae § & @ w82 g3 9w

I T Y FTTET AT

(a) declines/sedt 2

(b) rises/ﬂ@?ﬁ?l

(c) remains constant/fgX &t 21

(d) is uncertain/3EE & 81
Ans. (b) : T HF 96 W T ¥ TR &t AR =e
W UZT WY I I A Fedt § Ffh TWeAd a% b
TR T W AR # I B § Y T B s
&9 § W@ W IEw ara § gfg dd @ =i Tl
dh H T Al SASIEL I & ST Fehell 2 |
23.

For a linear consumption function which of the

following is true?/ Y& IUAT wew & g

frrafafaa & & &9 T 98 87

(a) APC=MPC/37l. 3.3. = §i.3.3.

(b) APC>MPC/33.9. > §.39,

(c) APC<MPC/31.3.5. < H.3..

(d) MPC is not constant/®1.3.5. R & 21
Ans. (a) : 1T TGN %o H 3fiTd UGN sgR qer
dir 39T gy AT SRR Tt 21
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24.  Which of the following measure is likely to

succeed in controlling the conditions of cost-
push inflation?

A W O Whitd ot fEmw & W
frrafafaa & | i | SU™ SR §Am?
(a) Reducing the direct tax rate
YT X & H el |
(b) Lowering the bank rate/Seh & B HF HLAT|
(c) Raising the cash reserve ratio
THE-FHIT A H TG
(d) None of the above/@ﬁ?ﬁﬁﬁﬁé‘qﬁl
Ans. (b) : A ST T THIfq aeqel @ arm § g9
el i % TRvTHEEy HHdl § 59 gig e @ A 39
AN T TG e & | AN S g T H G B
% fore sveves & 6 o o § w @ S e e
ATl § A A
25.

In Keyne's consumption function which
concept of income has been used?

I & TN e | foRa o & faem &

Wt feRa T 72

(a) Current Income/adA 3T

(b) Real Income/aT&ifas 3T

(c) Relative Income/dTIeT 3T

(d) Past Current Income/fise THT &I adAM 3=
Ans.(a):mwwﬁnwaﬁmmww
ARG & 3Th IR STAH ST T T TR B
I T IO 3TN &R feifa s 81 sudm
=1 fer 319 1 SAIES G 8l 2|
26.

Consider the following:
frfafad o eam difva-
1. Say's Law of market/® T ST =
2. Flexible real wages
Tl areiaes Aegd X
3. Savings is a function of rate of interest
T, SATSET T el B
Keynes agreed which of the above?
Answer from the code given below

S 0 ¥ T wgua 97 s e faw
Fe | § difve-

GET IT ON
Google Play

Ans. (d) : . HE T g% The General Theory
of Employment, interest and money ¥ Fcliuehdl TR
T I warei # g & qun 98 whwfed fear 6
syforaen § Hqem & 0 gf IR TR F FH @A
I § F IR fam P e g R aegd ®
I AT BT AR BT AT ST BT 3T BT Bl T

27.

According to Keynes a situation where an
amount by which aggregate expenditure would
exceed aggregate output at the full employment
level of income is referred to as:

W o AIER TH Tt Rerfey @t G ok

Ul T T W HA AT 9 Fel ST W

rfireR BT ¥ e SO TR feRam ST 8-

(a) Demand full inflation/H"T Giod THifa

(b) Inflation gap/THifd ST

(¢) Cost-push inflation/amTd G Thifa

(d) Both (a) and (c) above/3TH (a) T (c) aHI
Ans. (b) : M0 F9 &% TER T& UH Rafy S&f IR
* qUf TR T R F =9 9 A IS I S e g
T 3 T el el S 8| Thife et Asieg
=g H a8 SN S THif-gd e1ger SMER FHdl W
SUASH IAEA qF S 21 oI F oER “ma F i
TR TR R g9 e T a4t 7o § 99 =599 5
ST & A T e anfh”
28.

Multiplier- accelerator interaction principle of
trade cycle is associated with the name

HUR Tk o TUIh-toleh i R feRET
T & SrgT ST §-

(a) J.M. Keynes/SI.TA.&= & 91 F|

(b) J.R. Hicks/S. 3R fea & 9 |

(c) J.B. Duesenbenyﬁ.ﬁ.ﬁgﬁﬁ & 9 91

(d) None of the above/3Wih § T freft A7 T &t
Ans. (b) : TR ¥% & TUTH-OXE B Ffaue W e
q fFAT| I SFIER SR T UIS-oH B AT FH
qRem 21

29.

'Say's Law of market assumes:

‘¥’ 1 IR o e §-

(a) Laissez-fair policy/3%a¢ Hifd
(b) Full employment in the economy

srfeaee # quf IsR |
(c) Perfect competition/quf SfaRiTaT |
(d) All of the above/3WRIh Tt

Code/2: Ans. (d) : . S § % oFER I ST A g
(a) 1and2/1 92 WA B 8| SR e Araaet @ wier fbr-
(b) 1and3/1 93 o quf TSR Y 37 o quf sfeEfimn
(c) 2and 3/2 9 3 * ITEERT Hifd o draeiel aegl &
(d) None of the above/STIK H F &I Tl * URedfieT i Wl * ﬁi{&?{@(ﬂ
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30. Aggregate demand according to Keynes refers

to:

F o TTER {AY AT ST -

(a) Point of equilibrium where aggregate demand
and aggregate supply are equal/ﬁfﬁq hl dg
farg et wHy W 9 T g SR B 2

(b) Consumption demand and investment
demand/39T & we fafE @i

(c) Total demand in the economy
steferaen § g A

(d) Expected revenue from the sale of output
produced at a particular level of employment.

fafyre YR TR W 3Iafed AEm & e 9
SAM-ad S|
Ans. (d) : FF & STIR THY T ARTE IR TR W)
Ieqfed W & st § st S & S 21
31.

Disposable income is equal to:
- T T 8-
(a) GNP- depreciation/Sehd TE Icqre-fordrae
(b) NNP- indirect taxes+ economic subsidies
foR[s TP Seae-3TeE i NS SR |
(c) Personal income—personal direct taxes
dafthes STI-dAftheh Teael

(d) None of the above/?q?i?ﬁ T q & T
Ans. (¢) : T AT T = ARG T-SARBTT Tl

EXN

32. Which of the following will directly increase
the GNP?
frrafafaa o & &1 Tt T SAE § Toger
wY | glg wmm?

(a) A rise in interest rate/sTSTeX § CleA

(b) A surplus in budget/s=ie & R |

(c) Anincrease in investment/faf=T § CIEA

(d) A fall in national debt/TETd F0T H S|
Ans. (¢) : 9%d TP 39E UH fG0F a8 § 9w ¥
Srqifed guEd Sifad aeqei qor Yarsd  HiEe qod Ee

21 faw 89 ot 9fg & uRumesy 3amed, o,
IR # gfg et @ g adie e # gfg o 2
33.  Which of the following is not well matched?
frefafaa & @ = T gafea @ 82
Economist (ﬂﬁ?ﬂ'ﬁﬁ) Concept (cTH)
(a) Irving Fisher — Time preference
ERELREN - §Hg A
(b) J. Tobin — Portfolio balance
3 A _ S Hge
(c) J.M. Keynes — Proportional
é.@-‘l. I consumption
function/3TaTfeh
IUHIT e
(d) J.M. Clark — Acceleration
S, FAh ~ S

GET IT ON
Google Play

Ans. () : STUS IUFM Fo & Ffaure W, T
Fomed Tur faced Wieda I R A e ®E (o)
gafem 4 21
34. If MPC = 0.5, then multiplier (K) will be:

gfg MPC = 0.5, |t TuTeh (K) ERT-

(a) 172 (b) 1
(©) 2 (d o0
1
Ans. (c) : TUTh =1_MPC
__ b1
1-05 05

35. According to Keynes, of the following which

helps in the determination of the level of
employment?
HE & JTER, T § ¥ B TSR @ ww
fraifa & o wEraew g €2
(a) The quantity of money/qsT % fEmT gl
(b) The behaviour of trade unions
o7 TH % FIER Z |
(c) Prices and Wages/@Hai 3R Fﬁ!{f[ SR
(d) Aggregate demand function
FHY A G g
Ans. (d) : . FH & SR daw § IR & TR
F frufeor & go9 Heequl 9@ §WH AT 21 THH WA %
T ueH §-
1. 3T =
2. e =11
YT = f (379, U9 gf)
ferer == £ (ST S i qer, SeIE)
36. The 'Phillips Curve' describes the relationship
between which of the following?
f o @ ‘feforom ok’ fehmer wear ey
ST €7
(a) The federal budget deficit and trade deficit
T e ST S AR =T
(b) Savings and investment/s=d W& FE9|
(c) The unemployment rate and inflation
SRS <X T 51 T &
(d) Marginal tax rate and tax revenue

G Rl 3N H A

Ans. (c) : f5feTeT o SO & < qr g wifa
W F WA T F H AT 8| G IS # g
% 3 q1 THfq § B S T 2

TSI X
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37. Keynes was mostly concerned with:

HIT Gaiferer Gaferd o-

(a) Cost-push inflation/@mTa-3Ra wwifq |

(b) Demand-full inflation/dTT-Sif<a THifT F |

(c) Stagflation/fedg i T

(d) Structural inflation/HTE-Tes% THfd T
Ans. (b) : H T 3o g% "How to Pay for the War"
H Tpifdel =R S RO WA H T8 GHE HT H
Tof-ISR § e Fd IRd dar ofd ¥ sifs ag
S 1 Refd 1 gus ¥1 HE % ITUR it 3R
& FNU HET-ER T g I &1 o F & g §
ﬂif—?ﬁﬁ -3 (demand-pull) JHR et 71
38.

To which one of the following, liquidity trap
does correspond to?

AT W for ° 9 formd weifia &2

(a) Production function/3I&T el |

(b) Consumption function/STHIT He |

(c) Money demand function/qgT | Hef |

(d) Labour demand function/4H AT Hel |

Ans. (¢) : e A HN AAqRT N ST A Hg J
feFam o1 we Ut fRafq frwd wde % = gE # ofd §
35 & S A G H HHl TG A S b A 3T e
Pl A STl FE 2|

39.

1- E denotes:
Y

1-% 7k YT 8-

(a) Average propensity to consume
3fIgd ST S|
(b) Average propensity to save/3NEd o g |
(c) Marginal propensity to consume
g 3T S
(d) Marginal propensity to save/SHHI=1 d=d Hgf |
Ans. (b) : APC+ APS=1
APS=1-APC

APC:g
Y

APS = 1—g
Y

40. Which of the following curves is used for

measuring disparities of income?

frafafiga & & e &t fowmarstt «r ae &
feTe ferer =eh o1 WA feRarm T &7
(a) Laffer curve/AHL &6 |

GET IT ON
Google Play

Ans. (b) : 3T &I fasmarstl &t 419 & ¢ AR~ 9% o
et Tqoriss 1y R ST @1 ARt A e & ol
T 3@ & a9 gnft, o i faHar o & %9 2

41.

Repo rate and reverse repo rate are related
with:

T 32 3R Red Wt Ye weitE €

(a) Government's fiscal policy

TWHR F T HifT T

(b) Public debt/HTd<I=% FoT F|

(¢) Import export/3TaTd-fafd |

(d) Credit policy of RBI/3TRE2TE =& dr™g Hife F1
Ans. (d) : W © 71 fad W © RBI & 9@ Hifv @
Tt 21
IOt Y2 59 @ W areushiel § RBI S0 A1 Sl i
IYR fear S 2 39 (W T Fad B
fod 0T - 9 | | Fusa F W RBI 51
SR s ¥ IR foran s & 39 Rad 1 T #ed 81
42.

The present Indian monetary system is based

on:
TART WA Wfseh TUTTet STenia §-

(a) Gold Reserve system/Taul ST Ut TR |
(b) Proportional reserve system

I ST JOTedt

(c) Convertible currency system
TR qET (HE) Jomelt W
(d) Minimum Reserve system
AAH ST JUTTAl 9
Ans. (d) : 9999 ¥ 9Ra § =AAH ST SOTCH 1] 2
RBI & U =[q9 ST H¥ 200 FJIg . 21 forgd &
F 115 HUg @l qUS & &G § T E9IS & |

43. Who amongst the following economists used
the phrase 'measuring rod of money' in
Economics?

frafafaa o @ fora srefomeft 3 srefomer o

‘qrerrter’ g Wt WIa ekt YarEr g feRer?

(a) A. Marshall/T ATSTer

(b) Adam Smith/ug¥ fareg

(¢) J.K. Mehta/S\.3. Tear

(d) A.C. Pigow/T 4]
Ans. (a/d) : T 417 T srefomer # onfies e % TRy
¥ qg1 w6 T 1 FA fRAT| 39 TSR THE 3 &
TG 31 aeqal @l Wi foan S AnfeT R TR
®9 § 9T S Geh| UNTA 7 UG HEAT &k 3G AT B
ST ST S AT ST Gk it Hoamn &1 A

(b) Lorenz curve/TR= &% | 44.  Which of the following statements in respect of
(¢) Phillips curve/fRfeTed =55 | the deposits with commercial banks is not true?
(d) Kinked demand curve/ferspfera #iTT a6 | AR, Sehi ﬁ w1 o weer § e wet §
¥ i w77
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(a) fixed deposits are accepted for a certain
period of time./37af¥ ST T ¥ T &

foTT wEier S 2

(b) Demand deposits are repayable by the banks
as demand

[T ST S ER AT R 3 el 2
(c) Deposits in current account attract a higher
rate of interest as against the saving bank

account./ﬂ@@ﬁﬁﬂaﬁﬂaﬁ%aﬂﬁ@ﬁ
R &G S el SR § s a2

(d) Savings bank deposits attract certain
restriction of the bank/s/=id @A & ST W s

3N B F1E0 AT S 2
Ans. (c) : FRE s A =Ie] TA & 01 F =i
P A T G S 21 e @ 98 @ @ fgd
ST STIHT ST & STER TRT &t off S qo weft oft
frer waar 21 fFq 3® 9 W G @ F T
Fihftieh AR (0.5) % &I § B A T H & |
45.  Which one of the following is not a function of
the country's Central Bank -Reserve Bank of
India?
W F FT dw-Red dw oiw 3fv=ar @
forer sl & @ @ @ s T 22
(a) It acts as a banker's bank
I8 Sl F SF BN FE BT 2|
(b) It has monopoly over note issue
Aie i W g THIER & 2 |
(c) It acts as the controller of credit
T8 g free 1 HE S 2
(d) It can accept bulk deposits from groups of
people/aE @AM & THE ¥ AL ST WHR H
Tebell B

Ans. (d) : 39 F HT % F TG HE-

GET IT ON
Google Play

Which among the following is not a liability of
commercial bank?

frrafafiaa # & w9 T aifitsa S st 3gar
& §7?
(a) Share Capital/37e1 gsit
(b) Reserve Fund/3Tfard H
(¢) Bills payment/feret RNIE]
(d) balances with the central Bank and other
banks/H=a SF T 31 bl F TG AT
Ans. (b) : SR dhi F ARH S Hifgeh A &
B & SH-sTRRE B
48.

47.

Which one of the following explain correctly
the meaning of 'Repo rate'? It is a rate at
which:

Frrfafiaa & @ i T ‘YOt U % wdt ot o
ST AT &7 I8 Ueh X § o w-
(a) Banks borrow from RBI in short term.
S STeqRT § ARA.TE, ¥ IR o &
(b) Banks park their surplus funds with RBI
S 3TqT SAfhH PIT B ARSE. F U
@ ?
(c) Banks give loan to public
Sih ST 1 FOT & §
(d) People deposit money in bank
A Sl § T ST S 7
Ans. (a) : YUY Y2- ST AMRE sbl §RT SFeq@Yy & forw
RBI ¥ 39 foran Sm @ @ 38 1 T #ed 21 T8 3UR
3 e & WY foran S @ R e fAfaa ety &
1% Ao T far s

49. Money illution:
1. 3 F FT % & w9 § Hrfe faye-
2. WEHR & A9 F T F 1. is important only when inflation is low but
3. forfier wmefarr & &9 # vanishes when it becomes run away
4. 9rg &1 frama qan feE a«ft weeyul & wa whifa et @t @ weg
5. A ftae &1 TR ATt Thifer W € WIS &1 el &
46. Which one of the following is not a method of 2. increases the speed of inflation
credit control? TR et i R el aﬂT ‘%‘I
frfefaa & & == Th v [RRELICIRCE ] 3. reduces the speed of inflation
(a) Bank rate policy/¥% =¥ Hf| 4. does not change the speed of inflation.
(b) Open market operation/Gel TSR T 5T | THIfeT SRt T AT WHTRIT A& ShdaT g
(c) Credit-deposit ratio/HTG-SHT 3TUIT| Choose the correct answer from the codes
(d) Cash reserve ratio/T&a ¥ UM | given below:
Ans. (¢) : I ST UM 9@ 0T % 3UE @ Forer o et & & et s o e =i
Safh o6 R AT ga IR F A qu TH P Code/%e-
U s} et S e S % evria wfinfea (a) 1and2/1 F 2 (b) 1and3/1 93
g &1 (c) land4/1 9 4 (d) only 4/ 4
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Ans. (a) : Wifser fayw- 5@ adfas g & &9 & 7
@ T I F MER W AfdE fpar Fam e s
2 @ 39 HifEe Ry Fed 81 9% o gx sy § s
B 21 o - Tm1 9w % FRoT @l § gfg A @
58 g1 9 1 w9 R R gAE @ S 2

50. Who is the author of the Book 'I Do what I Do’
‘oTTE g WTE TE g’ UK o olE@eh i §7
(a) Amartya Sen/3Ticd T

(b) J.N. Bhagwati/@.@. Tt
(c) R. Rangarajan/3TR {TRISH
(d) Raghuram Rajan/Tg0H TSI
Ans. (d) : 3% § B 3 € T & o@dh TIH ToH
2l
51. Money multiplier is the ratio between:
T [UTeh T=TeAfad o sirer 3TJuTe &-
(a) quantity of primary and quantity of total
money. HET Sl /O q91 o qT i AR
(b) quantity of primary money and quantity of
secondary money./SfH% T H HAET Tl
EGIRCR: IR e
(c) quantity of total money and money national
income/Fel T 1 HAT a41 Hifgeh TET 3
(d) quantity of money and aggregate investment
HET i HET T4 e
Ans. (a) : 5T 0T (K) :%
STef M = W51 & qfif
H = 379X Hg1/ Jrfieh q21
52. Which of the following denotes High Powered
Money?
e & | S Sou il O 82

(a) Money in cash/T%s HsT
(b) Deposit of bank/sis! & ST TR
(c) Reserve money/JRfard HsT

(d) Banks reserves at the Central Bank
FHT % & G PIq B

Ans. (c/d) : 3= VIfF &1 1 IREIT T51 HF G FHA A
M, & &9 § = fohar @1 3= i g1 § 39 RBI %
fraet wifss @ & @1 3=3 W 451 & JA & st
FAT T % e Smifae St 9 st = S
& U9 avas Red qor el Red siv =t & forg
ST 1 A A §1 3= Wik g% H = C + RR + ER,
@l C L B RR ea9as fiod & 3 ER i
st &1 =k T 2|

53.

Who viewed that quantity theory of money
should be regarded as a theory of demand for
money?

ferem o forom wega fowean fof O3 & afmmor
fogr= = g @t " & fagrea wwgEn
=mEe?

GET IT ON
Google Play

(a) Robertson/T&aHT  (b) Keynes/%ﬁf

(c) Friedman/$ig#d  (d) PigowdiT
Ans. (c) : . FISAT F STER-TRT H1 AT o THE
A F T Teaqul ReR Bed g1 qE A A B
frefRa & aren @ dd SRed # wmi E 2
e off 7 wd € o6 afk gu1 < 9 S R & S
r imd T H S gfs B g qed omen @
S|
54.

Which of the following is the most effective
instrument of controlling black money in an
economy?

e & 9 i foredt stefememen ¥ @t o9 &Y

Fori=ror o ot TeR wTavTTet iRt €2

(a) demonetisation fﬁ&ﬁw

(b) Depreciation of currency /Hgl &l HeI B

(c) Devaluation of currency /4T T HAaHeI

(d) Deflation/3Ta%®ifd
Ans. (a) : fogdiemr &1 o fFdt off 3w § R W
el g1 1 % o 3Gk g9 § 4% GRS F 2
THH HaE TGS HRUT HAT A, S GET @G

AT B B
55. Broad money is:
TS (1) YR Eelt &
(a) M1+ time deposits with the bank.
M1+ St & 3rafer s

(b) M1 + savings deposits with the post office
saving banks

M|+ TR = Siehi § s ST
(c) M2+time deposits with the banks
M2 + st # rafer smr
(d) M2+ savings deposits with the post office
saving banks
M2+ STHER S siehi § s=d S|
Ans. (a) : M = M, + Sehl 997 TEh Sobl &t THF ST
Ffirer & S 2
M, = 99 # g7 off SaRes a1 Tehr dHi % U
HiTT ST
S g5 § ue Sy # Rl off s o e FE
fepar < 8 |
56.

Shifting of tax is not possible in the case of:
form Tt o o feraer dore e &2

(a) Sales tax/faret X

(b) Excise duty/3cqIg J[eeh |

(©) Entertainment/S=eH &R |

(d) Income tax/3ATIHRI|

Ans. (d) : 3T B % Tl § X foade grrE g @
Y- W, IR Yob, TG R fH T
T S-S, TRt e o1 e oo =@ g 2|
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57. Vertical equity in taxation means:

T W ST | A -

(a) Tax payers in dissimilar circumstances bear
dissimilar tax liability./s/™ = 9RR&f ¥
T FEH F I B 2|

(b) Tax payers in similar circumstances bear
similar tax liability/¥9= IR & Heamr
U X SRS i F

(c) Tax payers pay equal amount in taxes
BT HX b &Y § GAF LA B 2|

(d) Tax payers liability decreases as income

increases/St9 379 EExl % a9 FEEE #

T gt @
Ans. (a) : . STeeT 7 HUEE & & GHFAST B I B
1. 3% FAF
2. &fas gHE

3¢ THMAT & SF=Tid o st 3ifuss qur e =fe A
H I HAT S| I EAM IRRY T e EHE
F SRR A B

&S GUAT & ST GEE ST Al 9 S 99 3
=6 F ¢

58.

Primary fiscal deficit refers to:

wrerfireR TSR Tre | drewd g 8-

(a) Excess of revenue expenditure over revenue
receipts of the government/SRHR & AT
A T S FH A

(b) Expenditure on capital account exceeding
capital receipts/gSivT STfeqai Bl QST T R
g T AR

(c) Fiscal deficit minus interest payment
TSN 81§ § S A & R FEH &
e &t el

(d) Excess of gross expenditure over gross
revenue receipts of the government/HHR

F TR Al W el T I SAH |
Ans. (c) : ST9 89 IAAM Telel FEGER ¥ 3UF TS
T A F T g7 TohEE g § § S YRRt
foeprer 20 & 1 38 Mofie =eT wed 2

59.

Revenue from surchange levied by the central
government on income tax is:

% G ST W AR o0 F g 3
(a) Shared between the centre and the states
F% Tt & o it I g
(b) Exclusively retained by the centre
Fad F5 ZW W S E
(c) entirely distributed amongst the states
qute: a3 S Al S 8
(d) Shared between the states and the local

bodies./ TS T8 T gesii § aidl S 21

GET IT ON
Google Play

Ans. (b) : % R TR W UGR o T T 37
HIA H g W S 21 SRR q9r 3uH Y wifd
Tsdl & WM ArF e (Divisible Pool) ® & STe
A1, S5 oRE i 39 ILYA W AT Sl 2| RrEeh
fod 5= o T 8

60. The union budget-2017-18 incorporated the
following features-

wefigr aste 2017-18 ¥ fo aral st wHrEAw

Terar -

(i) Doubling of income of farmers in five years
Tier out § feRam= ot 3T Rt AT AT

(ii) Income-tax rate for individual tax payers
was reduced from 10 per cent to 5 per cent

for income slab of Rs. 2.5 Lakh to Rs. 5
lakh

frsft &t ot & fou ® o2 2.5 we @
®OY 5 AT Tk T ht T hl 10 Flewd &
5 gfer9Ta TSt T

(iii) A surchange of 10 percent was levied an
individuals with income exceeding Rs. 50
Lakh
fosft aferel o w0 50 @@ | 31fes

I UX 10 Fr9Ta T ARIHR ST 74T

(iv) fiscal deficit was placed at 3.5 percent of
the GDP.
TR o1 & Tehed TEA 3 o 3.5

YfeeTa OX W@ T

Select the correct answer choosing from the
given codes:

e Ry el # @ Wl ST gh-
Codes/<h2:

(a) i.ii. iii and iv/ i. . iii 3 iv

(b) i, ii and iv/i, ii 3 iv

(d) i, ii and iii/ i, i 3 iii
Ans. (a) : 9T 5912 2017-18 # fea 7w goff fasheq T
21

61.

In order to control inflationary pressures fiscal
policy should be oriented to:

I Thifeh gomdl @l [Ea & & fog
TTeRTH e ftfer =t STu=TT =RT-
(a) to divert speculative investments.
Tg faf=m & e seaq &
(b) to check unproductive investments
sFres fafam & feifa & &
(c) To encourage productive investments
IuTe faf-r=mm @t Jeared H @
(d) all of the above/3Th Tt
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GET IT ON
Google Play

Ans. (d) : T5T Thifts @&l @ kA &0 & faw @@
wfshare 3TqATE St 2|

1. TorerdtT Hifer

2. Hifss Hife

3. WU g

e Ay § Sces ol I Wiedied e aen
SRS A 1 IS fRAT S & T HeLT IS
#t fepamett W s e S 2

62.

Who amongst the following propounded 'the
law of increasing state activities'?

P @ e T @ wdt g it

T oAt wferare ferar?

(a) Dalton/STeq

(b) Peacock-Wiseman/fehish-argstaa

(c) Musgrave/ﬂﬂ'ﬁﬁ

(d) Wagner/ajTFR
Ans. (d) : TF 3 9t g2 Bearstt & fam o SR 3
e fham) . SR &% AR Rl off srdforawer &
GDP 1 §idsif<iss =7 # eelcqsh T 9T Sl @
aafq GDP # afg % HroT gl TsE # gfy @l @
e wrefe = & gfg g 2

63.

Who amongst the following identified the role
of the government as Allocator, Distributor
and stabilizer?

for ® @ forme TR &t it & sTreE,
Teraen e Tenficaes o U | UgenT 87
(a) Dalton/STeed
(b) Musgrave/ﬂﬂ'ﬁﬁ
(©) Pigous/tﬂjl
(d) J.K. Mehta/st..5ga
Ans. (b) : W. TEHT T WHR H i B A9 wgegel
Fht § o foan
o aded w1 o famur o Ryl R
64.

The principle of ' maximum social advantage'
is concerned with

STRIGHAT TTHTNTG ST ST R Weifad §-

(a) taxation only/év_clﬁ FHIIT F
(b) public expenditure only/Hac TrEt-eh =T

Ans. (d) : 3feHaq gmfses o fagia 1 Sfaoe .
TreeA o fRam o113k STIHR SAfErban WIS @y i
iftq & forg & forg syavass @ f qmfsss e @mr =
g | @ 811 SHeh 3T=id ULl & ST
A7 =g & well W e fean e 2

65.

Budgetary deficit does not take into account
STE Tl witAfera & ST §-

(a) revenue deficit/TSTE Pl

(b) capital deficit/gsiTd =1 i

(¢) BOP deficit/steidt =1e &t

(d) non-tax receipts/ﬁ(-aﬂ it i

Ans. (¢) : TSRY HRT = o WA — Fa =9

FA Wi = ToRa 3 + <Fa1 9 g FE art gon
Tl + Wresh O (ST Goreh Wifeddr) (HreSth
0T § RBI ¥ foTQ 70 07 &t =& @)

Fd TG = T &g + ST 4

66.

Which of the following is the main objective of
taxation?

T ® @ A | R Y 389 €7

(a) increase in consumption/gq"ﬁ"T i gfs

(b) increase in production/3AET H gfs

(c) raising public revenue

HrasifIeh TSI hl T

(d) increase in capital formation/ﬁ fomfor & ﬁﬁf{
Ans. (¢) : St off 3w & wefe FU &1 9@ 7Y
Tora 1 Wi Bt §1 eE 5 om &t sTEEa B
fopan ST 6 dor IS FeAmT WA P ST Goh |

67.

Incidence of tax means:

AU T AT 8-
(a) reveated tax burden/JhRd X R
(b) real burden of tax/& T dTEAfdH AR
(c) indirect money burden of tax
T FI I HIEF TN
(d) direct money burden of tax
X H T HEE TR
Ans. (d) : 9O ST HIE YT AT TR B AT
ST @ A & qeH g T €
1. SHAETA- F FI AAHITD IR 3G TWHR & Gl |
L STHT B T A 5T T 2, T HIE Ped 2|
2. HAUTA— T I 3F: A IR e SR 8 59 g
I Hed &

68. Which amongst the following is the source of
(¢) public debt policy only non-tax revenue of the central government
HIc S-S FOT Ay g budget?
(d) both taxation and public expenditure & THN & e ¥ frAfefad § § @i Ueh
FIRGUT LT Wb = ST o TR T 3T T EE 77
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(a) Customs duty/HMH1 I[eh

(b) Profit of public enterprises
s IUHT T AT

(c) Wealth tax/qHqfd HX
(d) Excise duty/3cq1S Y[eeh
Ans. (b) : % FHR & T H 3T & Fid-
. GrdsI SUHH T W A1
. SR Yeeh
. I 9T AT
. ferdia wgrEa
. grdsie F#oT
. GSiTTd e

69.

AN L AW N =

Laffer curve is a relationship between which of
the following variables?

AH Tk fAfeied § § foRdch wemr ey
SATar 872
(a) Tax revenue and GDP
F UG TN FheA SR IcTR
(b) Tax rate and tax revenue/shy SX qIUT H{ TS

(¢) Tax rate and burden of tax
Y QU qIT T hl 9
(d) Tax revenue and debt redemption
F S T4 F0T F9eH
Ans. (b) : T 3R AR 7 H Y T H A q«1
F R F I TEY F YR W I8 vfqwfed fHmar fF
W 1 3999 TR A 2 P TR B A 9fE F 9y
o H FAf ol € R SEE A f WA W A
&, X et # w21
70.

A tax is said to be buoyant if tax revenue is
proportionately:
HT H SATAh hgl AT & Al T T
I &
(a) more responsive to changes in output.
Iare H oRadat & ufd st damsia
(b) less responsive to changes in output
I H gRadat & ufd wH Hogsia
(c) equally responsive to changes in tax base
F ooER ¥ uReddi & ¥fa weAed ¥
REECNI]

(d) less responsive to changes in tax base

F YR § gRadl & 9fd 7 daeTeie

GET IT ON
Google Play

Ans.(a):mmamwmm%wﬁm
T gt T Bed SH- g # guR, A & #
ITHIHT, L TGl T JEE e & IRvmEEEy &
ToE # g A aRadel & d 9 S AT e &)
T Il Fed 2

I H AT T9 FET S ¢ @ H TSRT I,
e a § R At afs ¥ aRE @ W o
BEESNIIIT

71.

Which one of the following factors cannot
correct disequilibrium in the balance of
payments of a country:

forelt 291 & aW Hgew § e § @ e
TR STHTA Sl S1eh &1 HY Tehell-
(a) subsidies to export industries.
frafa @ @ oM
(b) increase in import duties/3ATATd W i ﬁﬁf{
(c) reduction in import duties
I Yol H HH]
(d) Import quota system/3TTd 3T JUTCA
Ans. (¢) : A HIAT Tl T A oh SUA- Jfigd
A Yo S R B & FrEfaiad 3o -
1. fafdt &1 s
2. ffa =4 #
3. 39 & JEM I 3N Ferar F&H FEAT
4. A | FH
5. 3T A ghg
72.

Which of the following statements are true in
the context of policy of protection.
ot fifr & Hed ¥ fr °§ ¥ 99 wew w1l
T ?
i. Infant industries argument.
oty Sot @ @k
ii. Diversification of industries argument.
e o faraefrenur @t aeh
iii. Basic industries argument
Tl ST kT Ak
iv. Reduction in foreign trade.

ferasft =mam & et

Choose the correct answer from the codes
given below:

T et ¥ |t 3 -

(a) i, iiand iv/ 1, il TLT iv

(c) 1, ii and iii/ 1, i1 TAT iii

(d) 1, iii and v/ 1, 1ii TAT iv
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Ans. (b) : ST A % G srefenieRi F AR § R
forgy oM & fag & U emaves & B I wwow
foeft Aol @ S wem foRa S e 3 T
T & W T FoE § R S % R A

B TR0 A T T T8 2
73. International development Association is:
st ferera aftwe-
(a) a subsidiary of the World Bank
forr S ot TS 2

(b) a subsidiary of the LM.F.
I TH.TE. F GeTTH @
(c) a subsidiary of the W.T.O.
S A, B T ¢
(d) None of the above/SWE & T Hig Tal

Ans. (c) : TR Ho- 59 fag & faftw 390 & 78w
o wEgia @ R T & gl gew i @ e
anffes, =maies fifaar & at 39 enfie g9 wed &1

The curve that shows the maximum volume of
imports of a commodity for a given volume of
exports, is known as:

frafa &t & g8 7o & aeer # T W W™
areft rfirehaw WTT S WERTA & arem 9O
THECATAT 2-
(a) L-shaped isoquent curve
TA-3THR F THAES F5H
(b) Reaction curve/3fdfshar s
(c) Consumption curve/3THNT a5h
(d) Offer curve/d%d dsh

76.

Ans. (a) : TEA e ofvg g 9% &t © el
T @ 39 forg o &Y 3aR woT Ragad off ed &1 g
T 24 TR 1960 # g3 0

Ans. (d) : ffd & & g8 #7771 & 95 § W & S
el WA TSl HE G 9 Y% 9 e 7
TG o 1 Sfqared W At der Tered J fRar e

74. A stable exchange rate policy is desirable for a

country because:

forelt 27 % fore T Rer Faforeer oX wiea &
wifen-

(a) It helps to promote foreign trade of a country

g 9 % sl IR i FgEr < 21

(b) It helps in planned economic development of

the country/J8 331 & fFanfom enfiss o &
T Ll & |
(c) It helps in uninterrupted international leading
Tg AT FUT A8 B 3[ed ®T F Tgrdl
HT 2
(d) All of the above/3TIh Tt
Ans. (d) : fer fafFma == yomeht % omy-
1. 951 & 3TR-9gE H g arct IearEeHl i g Bl
2. 891 &1 Semed s
3. TETEHITT Sl HF HAT
4. fonfSm onfefer foepr ® HerEr e
5. foreft MR & fAU st e ammERT @ S
75.

A common market where member countries
coordinate macro-economic and exchange rate
policies is referred to as:

Teh T SR 81 0E8 99T 98 3fdies ud
faftma =@ Afifrat & ww=w @ &, W
Hafrd o §-

(a) Customs union/dHTH HF

(b) common market/SMH SN

(¢) Economic Union/37fe& g9

(d) None of the above/STIt H F &g Tl

77. Under a flexible exchange rate system, the

exchange rate is determined by:
T wreiieh fafrme o wunett & sieta, fafe
o Frerffta 2t -
(a) the nations monetary authorities
9 % i AfwfEr g/
(b) the price of gold/&ut & FHHT FRI

(c) the forces of demand and supply in foreign
exchange market fafma sk # A

wd gfd v g
(d) exchange arbitrage/faf 7 ST=RWOT 5T
Ans. (¢) : ot a1 gRadaeia fafma X somett &
st fafm & 1 frefor g | yefad @i wd ofd
#1 wfthal & g0 freifa & 2|
78.

Marshall-Lerner condition is related to:
HTIeT-T I Weitere -
(a) Demand and supply of commodity
I & A wd off @
(b) Advantage and disadvantage of devaluation
AT & A B o
(c) Effect of public expenditure
g = & T |

(d) Condition of social welfare

grTiieh e & I 9
Ans. (b) : ATYId TR I 1 TR IR A F T
F P foru Rt off S91 g fRT S aret steeE @
a9 W Ty 81 I haared fhar & faed off 2w
% 3N e T 3 TN H & 9 Al 2-
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1. E+E>1 — ST AR HJH
2. Ex+Em=1 — X =R dqeH

GET IT ON
Google Play

Ans. (d) : ¥Ha TTAH HJeH H R FH & 393
1. fafdl &1 Sefed &

3.Ex+Em<l  — ¥idehel SR HeH 2. ST 1 Freaed FT
. s |3, AT
79. J. curve hypothesis suggests that devaluation is
helpful in: 4. fosh fafa Red =t ot
W ok HeheUdT o IR AT m@m 82. Which one of the following is not related to

2

(a) Short and long period/3TcqaTdt Ud et #
(b) Only in short period/&Fael 3TTHIA H
(¢) Only in long period /#aa Erere &

(d) Only developed countries
Hae faesfad Iui & fow

World Trade Organisation (W.T.0.)?

fr & @ =9 ww fay =R w@wea
(S, A0, | Heifera & 87

(a) TRIPS/fEwd

(b) TRIMS/fgw

(c) FEMA/%HT

(d) Urugway Round/3%d ¥

Ans. (¢) : ] T F ThHeUA & SFIER SH P I
FIYEAT FIAT & A IO § IqH A e § IhE
Bt ? fobeg efebTer # A oo & i e 2

80.

The theory of comparative cost advantage
assumes all excepts:

TS NG a1 fgT=a Taeh! AT <aT &
IMEICEEED
(a) no transfer costs are involved
T AT it T8 2
(b) there are two factors of production
IR % & W §
(c) technical knowledge is unchanged
TR 9T safafid &
(d) there is free trade between two countries.
2 39 % e @A SR &
Ans. (b) : TaTHS @ g &1 gfaues o Sfae
fRepret 3 foban 11 59 fygra 1 Frefolad g 8-
o fog & fad & 2w )
o A 39 THE TS B I R E
o 3T A F ARmEE A @
o 97 IS H THAA e 2
o Toft 9fteh Tesda 2
o 3 39 F HeA WA AR fHaAr S 2
o Tl FH URafda
3 ST I F97 T 2|
81.

Adverse balance of payments can be corrected
through:

oI AT S Rl G ST Hehall §
(a) Devaluation of currency/avi?\‘iﬁ AT g

(b) Vigorous export programme
TR fafa dada srfEy g
(¢) Import substitution/3T=Td Sfd &A= R

Ans. (¢) : FEMA (fesh fafrma samm aifafam) 1999
T uiita gam| faceft =R q@n qaE S gloss s e
wg 9a # faelt 931 9 % gerafted fawe s s
feorar & dadq FH & }|yw 9 foeeh gm fafme
sifefam (B0) 1973 & M W 1 SH, 2000 § %
SIEERIRIE

83.

SDRs are allocated to member nations by IMF
in proportion to their

faore emeRur STRIRRI W TS TR W

T USET <9nt W anafed feram wrar &

(a) Population/SHE@EAT F YR T

(b) national Income/TET 3T & IR W

(c) Poverty level/ st &R & MER |

(d) Subscription to IMF/IMF &9 # 3% 379

F MR R

Ans. (d) : IMF ¥ 3%EF & &9 § & T & TH
fofera f¥T S S S 81 U GEE Wl 79 HiS @
25% SDR A1 &I &R =Afa fhel <1 & q&1 § S0
HET A 21 BT F WY T I F A g F S
FT B 81 TAE TT H HY & & F MER |
SDR e fan S & |
84.

Who propounded the factor endowment theory
of international trade?

FUET FUR & " famw fagre @
ferem wferarfea feran?

(a) Edgeworth/Tsiad

(b) Ricardo/Reret

(c) Adam Smith/TeH &\y

(d) Bertin Ohlin/afeT 3Tigferm

(d) All of the above/3T T % FH

Ans. (d) :3TUTE &AOR % A g fagia @@
foured gaeR stiefem = fohar oni 58 stiga =R &
e RrgT ed €1 3efer 3 e geEar & R
F MER W g ufauied fen 6w w39 awg W
gaared qgr fata san S ap & 98 | an e
39 9§ TR @ qU1 S s Hww 2

GIC Lecturer, 2017

209

YCT


https://applink.adda247.com/d/XhqWf9lSap

Addai2H

85. Who amongst the following economists is a

supporter of unbalanced growth to economic
development?

frraferfiaa srefomfert & & s anfede faemma

H IrEqfera faeRma SurTH 1 amede i §7

(a) A.O. Hirschmanfq.?:ﬁ. E’ﬁ:f

(b) Hans Singer/a g fiTR

(c) Paul Streeton/dTd &1

(d) P.N. Rosenstein Rodan/41. T3, 781 U=
Ans. (d) : TAGHET 0 H rdTawa H BT &
R F fpen F e giie ‘s e fasia St
I FW 2 39 fagra & o gnde 2 R, v,
eq oft) Sefd ToeF TeM §foq fosm &
qudes &1
86.

Which amongst the following is the largest cash
crop in U.P. IN 2016

2016 ¥ ST wewr # fy=fafad & @ wow
HECAUU The A i Hf 772

(a) Oil seeds/fdera (b) Sugarcane/TdT

(c) Potato/3e] (d) Paddy/ami

GET IT ON
Google Play

88.  Which of the following is not included in the

national Small Savings Funds
e % @ @ Wi srew s i ° wftaferd
&t fera <trar-
(a) Senior citizen savings scheme
R AR = FretT
(b) Post office time deposits/STHER 3TaY SHIT
(¢) Kisan vikas Patra/fhg fasg o3
(d) Time deposits of commercial bank
I dbt & rafy s
Ans. (d) : T 379 s9q 9 7 ffafad 1 e
fepam ST 2-
« 3t AR F=d e
o ST Ay ST
o fohg foepre o
o ghdl HYfg S
o JHEE LA AT
3d: AR b H syafy smiel B e T
ST 2

_ ! 89. With reference to the World Bank's 2018

Ans. (b) : @ 2016 § ST ¥ § W Heaqul Tehal global rankings pertaining to '"Ease of Doing

HHA T A | business' which one of the following statement

idy bi i t?

87. The petroleum subsidy bill of the central 1§ correc ¥Rt - o
government during recent past has a tenancy to ﬁrfg 3k ht 2018 .E'ﬁ m ! il SST:'T AT
decline on account of: g foema’ & e ¥ frm O ¥ i wew
TA % fm W ® FE @R H U 7
AT | T T HT &- i. India is behind Bhutan and China.

i. Deregulation of petrol and diesel prices. ARA WS § e o <A &
A2ret we SiSTel S Al b SAE ii. India is behind Pakistan and Bangladesh
ii. Decline in global oil prices. R N & UTfehET o STea9 o
Ay I Hdl § free Select the correct answer using the codes given
iii. Direct transfer of subsidy to the account below:
beneficiants = @ T | ¥E 3T AT
e % Wil § SR 1 Hier g (a) i only/®ad i
iv Increase in excess duty by the central (b) ii only/%ﬁ i
government/F= TEHR FN 3= Yo # G (c) both i and ii/ i T9T ii
Select the correct answer using the codes given (d) Neither i norii/ 9 i AT i
below/f= faU et & & & ST fu- Ans. (a) :
Codes/&e: 39 AT T foI= 2018 - 3 311 T forew
(a) 1, ii, iii and iv/ 1, ii, 1ii AT v 2020
(b) i, ii and iii only/&ae i, ii T iii Et = =t =
(c) ii and iii only/ Had {i T4 iii Hd 100 Y 63
(d) iand ii only/ e { AT ii = 78 EiE| 31

Ans. (d) : foa Tl § &= WER & W2ra orEm H| | [T 81 Rl 94

52 o o T - RlIEZSIC] 136 CIE 99

1. It Ud o o el 1 At STt 176 RIEaSIC] 108

2. ofys 9 F Fd § fREe T 168
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90. Assertion (A): Bharatmala is a historic road
building programme.

HYT (A): TRAHTET Ueh Ufereriides wgeh fAmior

wHEHT B

Reason (R): Substantial resources shall be
generated in the economy through this
programme.

Choose the correct answer from the codes given
below.

HRU (R) 39 wEHA T Adeawenr # o+
HETL IUCTSET il
frreegpel # | vt 3 givu-

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A) / (A) T4 (R) gt
TE & 991 (R) & AR A 8 (A) H
(b) Both (A) and (R) are true and (R) is not the
correct explanation of (A)/ (A) a9l (R) gt
T 2 T4 (R) T ARAT T A 8 (A) F
(c) (A) is true but (R) is false
(A) & & g (R) e 21
(d) (A) is false but (R) is true
(A) T 2 g (R) T &
Ans. (a) : WG AT U Gooh HI0T drishd @ frwet
oo fafed el 7 2015 # @t off| sEk gRumEEY
e § STYRYd e e fed
ST & TErE W @ e |
91.

In which of the following years, the budgeted
disinvestment target has been the highest.

frafafea aof & @ warfaa e w@ea

waiferes & 8-

(a) 2009-10/% 2009-10 ¥

(b) 2013-14/ = 2013-14 §

(c) 2016-17/ 3% 2016-17 &

(d) 2017-18/ = 2017-18 &
Ans. (d) : TRG THR 5 2017-18 & dic & fafaast &
gaffers oed T T S fF 72500 H F. ATl B
T 2022-23 H 65000 HUS HESF IUHA &
fafrasr @ s & & o €

92.

Assertion (A): Recapitalisation of public sector
banks is desirable in the case of their massive non-
performing assets.

HAT (A): HESHTR &F F SR P WG -
Prfen oReaREl & ded § s qEgsie
HET T 2|

Reason(R): Process of Government reforms must
follow banks recapitalisation.

TRUT (R): S & GAYSIRLOT & Y TWHH FoR
EIIERIES NRES IS

GET IT ON
Google Play

Choose the correct answer from the codes given

below./[=1 %l H H&I I Fu-
Codes/&e:
(a) Both (A) and (R) are true and (R) is the
correct explanation of (A) / (A) d9T (R) L
T & 991 (R) T& =R & 8 (A) B
(b) Both (A) and (R) are true and (R) is not the
correct explanation of (A)/ (A) d91 (R) gt
Tl & 991 (R) T8 =ame e e 2 (A)
(c) (A) is true but (R) is false
(A) T & A (R) TTerd 21
(d) (A) is false but (R) is true
(A) Teid 2 Wi (R) W @
Ans. (a) : G &F F bt & G AET H R-Fafe
oRemRE § w A % fA gAdsier srEavas @
it 3od fodia Refe & ool et 21 Wy & g9
g TR GUR 1 A I @ e
93. Key benefits of GST are
Shoa . % T wee -
(a) Promoting cooperative federalism
FEHR] HEETE T T
(b) Reducing corruption and leakages
JoErt a9 geER §
(c) Creating a common market
HH AR & qRehedHT
(d) All of the above/STIth Tt
Ans. (d) : GST &I 1 S@E 2017 & X fBam T o |
GST % fa=fafad @y 2-
1. 9gl Heere | gfg
2. gHEN, geER §
3. HHM SIS S Hehed !
4. F & AT 99 9 G

94. Assertion (A): One of the objectives
demonetization was reducing the use of cash.

T (A): IR H TH ITXT A b ITAN
FH HH HE |

Reason (R): Increasing the use of digital modes
of payment should be encouraged.

®RU (R): fefed gmm & e @ defea

fepam S =nfew)

Choose the correct answers from the codes

given below /fT=Tghel ® ¥ WEt 3T &l (T~

Codes/2:

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A) / (A) d9T (R) L
TE B TG (R) TE A B 8 (A) B

(b) Both (A) and (R) are true and (R) is not the
correct explanation of (A)/ (A) AT (R) L
& 2 791 (R) T& AR T Bl 2 (A)

of
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(c) (A) is true but (R) is false
(A) T 2, g (R) Tom |
(d) (A) is false but (R) is true
(A) T &, fg (R) Tt @
Ans. (a) : 59 feft 391 g1 A & e gaT @ 9
¥ ST B o S @ a9 7 g H yEed § A S
2t =4 fdeR wed €
T WIE I -
1. FIABSRT HI TH BT
2. fefSeetiontor it semEr &
3. Sl &I B TFE F R BT

95. Which one of the following was not
incorporated in the common budget for 2017-
18
g awe 2017-18 ® o § ¥ frg wimfera
=& feram T
(a) Bringing Railway finances into main stream
budgeting
9 fag &1 a9 T oW H A

(b) Date of union budget was advanced almost by
amonth/WWﬁﬁ@ﬂﬁW@%ﬁ
T AT
(c) Classification of expenditure into 'Plan' and
'non-plan' was climinated/@dsi-eh =9 &
AT T - aifeRToT i gHifd
(d) Number of centrally sponsored schemes
should be increased/&H-<a GaTfeld AeT1st
@& 4 gfg & S =R
Ans. (d) : 2017-18 so¢ H s Fuiferd AR i
T § gfg T afcsh S B9 L A H T o
96.

Of the following, which sector constituted the
highest percentage share in India's exports in
the year 2015-16?

o 2015-16 W fAfAREad § ® 9RA & i §

qaiteres iaera feraenT on?

(a) Engineering goods/gfaafir B

(b) Gems and Jwellery /AeT Td Sl

(c) Textiles and allied products

(d) Agriculture and allied product
Ans. (a) : 2015-16 H waifees fafq Sifafr awgsi &
fepan ST &1 2021-22 # 9 o9 a%gsl & o9 S
forafer gem & foret € -
1. il 3=

GET IT ON
Google Play

2. Yeifera 3

3. 9T 9 saed

4. 3N g AR hiFehct

5. S TUS B

fma foftm o (2021-22) & 9RG &1 qar FEfa ad=-T
(250 fafera sfeR) ¥ femk (254.4 fafermm gfer) o

97.

Which one of the following continues to be the
major component of Indian external debt
during recent year:

T F aut B frg § @ ORa & e wor #

I UEH G @ §

(a) Trade credit/=aMIN G

(b) Commercial borrowings/aursa IYTRAT

(c) NRI deposits/T.3TR. 37, 7T

(d) Short-term debt /3T FT
Ans. (b) : ITHH 9T § 9T & STl FOT H FIOSTE
IUR & waifeeh 760 8 S 37.49 Sifav & e
T £
98.

Which one of the following is not included in
the group of eight core industries?

= ® ¥ &I 37S MUY AT o T |
witafera =€t feram wrar
(a) Coal/HEem (b) Cement/HiHe
(c) Steel/=Ta (d) Textiles/HUeT
Ans. (d) : TG & 8 STERYT Fq@ IAM-
1. ot 3ame 2. forga 3. 399 4 e
5. e dd 6. Tpfas 9 7. Wi 8 A
99,

'Start up India' initiative of the government of
India aims at:

RA Wi ot ‘WTE 31U Ugar’ uge ol

3999 -

(a) Nurturing innovation/Favad- &I B HET

(b) Driving sustainable economic growth
ST o HafE # SR A

(c) Generating
opportunities

I T R AR & ST H R FT
(d) All of the above/3TIE Tt
Ans. (d) : ©R 39 3fUea & YEAT 16 Fad 2016
N H T A ITH TE I} &-
1. Fasad s B e
2. N Hgfs & gfg &
3. UMK & TG BT Gor HAT|
4. 3Tk STHHMAT I G FEAN
5. forpre Wl Y Siver) QR S

large  scale  employment

GIC Lecturer, 2017

212

YCT


https://applink.adda247.com/d/XhqWf9lSap

Addai2H

100. Which one of the following statements is true
about cities in India

T ol § @ 9 9RA % vEd o an |
wE
(a) Generate about two-third of national income
T g &1 T D-fe giea e @
(b) Generates about 90 percent of tax revenue
- H1 T 90 Ffav GRAT F 7
(c) Generate major of formal sector jobs
sioeiies & &t iRyt AHRAr F1 ge
F 2
(d) All of the above/3UUh Tt
Ans. (d) : 2011 & SUET & SER faU U HoA H
ST 9t Ho T 2

GET IT ON
Google Play

Ans. (d) : G&H, Y T HEAH AN TGO 2006 F H
T ffl MSME & #reed § ydfegqawen # o &
AT H B S 21 37 TR B Heeo] MSME
# fsiva 9 81 MSME § 43 few s &
FAffeRoT | g 2020 § T9E 3T 39 @ fog fr
¥

(i) O &g 3aw, g gaa o aefiad srear sy #
fopar e frEe 1.0 S 9 R A 8 3R s
75.0 HUg F 31 7 &

(i) TE1 Qe 3o, forgd wom ot mefad steam suamr
T forar m few 210 HUS § R @ A @ SR
TSR 350 HUS G At 7 &

(iii) TH Femm 3aw, Rred g i el steEn Sustor
# fopar o e 350 AT SAfyE T @ IR e

101. National Health policy, 2017 aims at:

e T Hfife, 2017 1 SR §-

(a) Raising public health expenditure to 2.5
percent of the GDP./HdSIe% @Ry =T
T 31 &1 2.5 Hferd ST

(b) Providing a health card to every family
T URAR F THh @R FHE FTH FET

(c) Providing at district level most of the
secondary care/fSTell T 9 31f¥eivn fedas
TG JEH FE

(d) All of the above/SWRIh Tt

Ans. (d) : T¥ @ Hifq 2017 & 5@ /YA

o QS @R & H TEE 3T & 2.5% BT

* Y% URER HI T WA FE J2H HET|

o e TR R ey fdias et gem & e

102. Which of the following statements is not true in
respect of micro, small and medium sector
enterprises.

o oAl & @ W9 W e gew, I qur
TeIw & o e o Heier ¥ WE AL B
(a) They contribute about 37.5 percent of the

GDP/3 Tshal T 39 &1 T 37.5 Sfawm
TEH U 8

(b) They provide employment to about eight

crore people./'a T IS HUS ANl H
SR &M & 8

(c) Have huge potential to reduce regional
imbalances/&fa STEIE ® T FH W
fereer &meT T @

(d) Have huge potential for concentration of
wealth in the economy/ﬂ?faqa@ﬂ 7 gefd
e B P et e W@ @

2250 &Us ¥ 3R 7 &)

103. The idea of universal basic income should be
promoted from the view point of

HaeTdt MUY 3’ o foem @l Wearfed
AT AT
(a) Social Justice/TMIfSTH =F & T ¥
(b) Poverty reduction/Tist 52 & gfFeoT 9
(¢) Minimum standard of living
AT S TR/ & g ¥
(d) All of the above/SWRIh Tt

Ans. (d) : S TR o & fafafed w9 H
e T =

o I, oTfe = @i gf® °

o T T W FE & fAw

o AT SEA TR H MG B & w3
104.

In which year, growth in gross tax revenue of
the central government was the highest?

fr o | for od § g TR &l Tahet T

3T H gfeg waifers & &7
(a) 2013-14 (b) 2014-15
(c) 2015-16 (d) 2016-17
Ans. (d) : 98 s, TR i T AT
2013-14 — %629.89 A@ Fg
2014-15 — Z818.05 A@ g
2015-16 — 946.48 @ Fg
2016-17 — 108.65 ART B
2022-23 - ¥2757.82 A HS

105. In which of the following year net national
income growth rate (at constant prices) was the
highest in India?

= 4 & form o § wma ° g ot e

gfeg ot ¢ (R wimal W) waiferes & €72
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(a) 2013-14 (b) 2014-15
(c) 2015-16 (d) 2016-17
Ans. (c) : I8 TE 3T i Jheg &
(R wiwat W)

2013-14 - 6%

2014-15  —  7.6%

2015-16 - 8.1%

2017-18  —  7.1%

202021 - 8.7%

202122 —  8.8% SAAM

106. In the year 2016-17, average yield in kg. per

hectare was highest in India in case of:

T 2016-17 W, Ufer FerT 3 Suafeer ferer

& w0 o waifres W 8-

(a) Rice/@maat | (b) Wheat/Tg #

(c) Pulses/aa (d) Oilseeds/fre@ &
Ans. (a) : 2016-17 # 9 R 3gq Syl Faffers
=g § @l
107.

In which of the following year wholesale price
index (WPI) experienced negative growth rate
in India

= ® ¥ forw oo § 9wa ® 9k 9o gushis
T SHUTHeR gieg &2

(a) 2012-13 (b) 2013-14

(c) 2014-15 (d) 2015-16

Ans. (d) : 2015-16 ® 9% Yed Hahis H THA X
RS (-3.69) W 21

108. The chairman of the 15™ Finance commission
appointed by the government is:

TR GRT TS 159 foIeT ATERT & S&wi 8-

(a) Shaktikanta Das/¥Ifthehid aH

(b) N.K. Singh/T7.%.f8

(¢) Ashok Lahiri/37eTs anifest

(d) Ramesh Chand/TH3T T
Ans. (b) : 153 T30 ST=T &1 Teq 27 TEWK 2017 &
N.K. fig & sregemar & nfeq frar mn o fom e &%
TS F WEHUE 9RAT H@fEgE % s 280 & dad
e T 2|

109. Which state in India has been pioneer in labour
reforms

A W I | TS 50 GUR | S0 &7 272
(a) Gujrat/TsId

(b) Rajasthan/TSTEITH

(c) Madhya Pradesh/q&q BEN|

(d) Uttar Pradesh/3tX EEN]

Ans. (b) : TSR TsF 9 GuRI # 3moft @1 21

GET IT ON
Google Play

110. According to the RBI monetary policy

announced on 6™ April, 2017:

3er, 2017 W AWH.3ME R v HWifzw

fifer o eTgER-

(a) Both Repo Rate and reverse Repo Rate were
increased/RT X qgr fyuda Rar = I+ =+
EEEIREI

(b) Both Repo rate and reverse repo rate were
reduced/Ral R dor fogda Rar = = =+
T AT

(c) Repo rate was reduced but reverse repo rate
was increased/Ral & &I g T W faada
foar = a1 srerr

(d) Repo rate remained unchanged but reverse
repo rate was increased/Ral X 3ufafda @
g faudia Rt & &1 sgran @

Ans. (d) : 30 2017 § RBI /1 301 &0 & &g gfadd
o form 38 98 TR (6.25%) R & S W@ T | &
fad W & 0.25 9w # 95 F T H 6% W
fear mr 21 9RdE Red d S s AT F owq@
Hordeh adHH &l ) e § -

BGET FAaH
l.3T3R. 4.50 %
TH.TA.3TR. 18.00 %
W R 4.90 %
fad T 3.35 %
HHid = gaer w5015 %
d% & 5.15 %

5 3TE, 2022 &I ALALIE. 4 I W FH 0.50 % FT
fean T 2 RO 319 T8 X 4.9 % 9 dgH 5.4 % & T
2l

111.

Which amongst the following is/are one

dimentional diagram

frfafiaa § @ =9 T e M €72

(a) Histogram/3ad fo

(b) Bar diagram/3vs 3 rec

(¢) Both (a) and (b)/ T (a) T (b)

(d) Neither (a) nor (b)/ T ar (a) T (b)
Ans. (¢) : T STHE M@ & 3F=id REHEM, IR
@, I 7, 30S NG H WHA fHAr A 2|

112. Histogram is sued to determine graphically the
value of which of the following?

s for w1 arwre freuor fe ° § fore Oo
=t Traifta & ® g=nT § o 82

(a) Skewness/faeHdr (b) Median/TTeareh1

(c) Range/fa&R (d) Mode/sigcTh
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Ans. (d) : 3@ foF & HE fEU agas & g
et & ferg y@m fovar s 21

113. If x=21 and Z= 18, the median (M) will be:

(; = Arithmeticmean,Z = mode)

Tfe x=21 dAT Z = 18 &, AT WIE=eRT (M) T
U= AT

(X = GHT=IR WL qT Z = TEAH)

(a) 20 (b) 195
(c) 19 (d) None of the above
3w # ¥ FE T
Ans. (a) : T = 9gcTh = 3 HIfLH — 2 HIEA
18=3x—-2x21
18 =3x-42
—3x=-60
_ 60
-3
x =20
3: HIRFHT = 20
114. Which of the following is not a measure of
dispersion?

foer & | I |1 Uek rufeRvur st ATg TE §7

(a) Quadratic mean/fsaTia ATET

(b) Standard deviation/SHTd fa=re

(c) Percentile range/Tdweh TR

(d) Quartile deviation/aqd% fame
Ans. (a) : T. I8 & STER- ‘TR a3 & A
fapsrar & "9 21
YA He Th AT God & aHl 3R Sora &1
i 7% g Wad &, 39 G B 37 SAigel & fae
7 TUfHToT Fed 2

JTITERTUT [T i whi farferai—

fraer o | "I
faem feream TquTich

qdS fome TqS fome Tonis
e feerer Hre feerer oTich
S fererer S ferrer ot

115. The range of the 'Correlations Coefficient'
(yxy) be expressed:
"HE-TEE U (y,,) % foam @t wefa
ferarm e &-
(@ 0<y,, <+l

GET IT ON
Google Play

116. Fisher's Index number satisfies which of the
following tests for an ideal index number?

TR AT Gerchich Ueh 39 orehich o = &
{ for Tfiaront =6t T=gg AT €7
(a) Time reversal test/SHe SEHIIT eI
(b) Factor reversal test/STe= SwhreIdl GeToT
(¢) Neither (a) nor (b)/ 7 ¥ (a) @1 T & (b)
(d) Both () and (b)/ T (a) T (b)
Ans. (d) : fFYR &1 QY gohis THT TE e qH
IR T H HIT FA 2 |
117. In an exclusive series: /Teh TSI ot |-
(a) Both the class limits are considered
2t ot et w) e e st 2
(b) The lower limits is excluded
forereft < @ ferem = b S R
(c) Both the limits are excluded
et et redt s forebrer e < @
(d) The upper limit is excluded
qd drr B bt fear S @
Ans. (d) : T STUgsi 907 § 00 GHET A e &
ST &1 den el @ s wnfier fear s 2
118. Trend refers to long-term tendency to:
g -
(a) Decrease only/év_tﬁf PECica]
(b) Increase only/%?f TG H
(c) Either increase or decrease/Tg AT T Hi
(d) None of the above/@'{[‘?ﬁ T Hig Tl

Ans. (c) : &1 #oft 7 diefprar § gu fafi oRada st
FA AN H TEEAEE H e A G H SR T

I B AT 3T FHal Sl 2 |

119. When to regression lines intersect each other at
90° angle, the coefficient of correlation would
be:

T & FeArOTH @ Tk e @t 90° & i
X whIEdl § @ X TAT Y & sra Hedw quiich
g

(a) Zero/R[HA

(b) Negative/RUHb

(c) Positive/g-TcHsh

(d) All of the above/3ww H+ft

Ans. (a) : 59 & FATTHT IW@MT TH GO H GHHOT T

Fedt & A 3T o FewE T I B

120. If variance is 144, then standard deviation will

be

() ~l=sy,, <+l i JERUT 144 § A7 WS frer gem-

(©) ~I<v, <0 (a) 72 (b) 44

(d) None of the above/39dt H & ®1g el (c) 6 (d) 12
Ans. (b) : T8 TEH-3 W F 9T UR T el Hrd| | [Ans. (d) T = 144
HRUT GH-Y & TGEHEY FEd & SHH SARHIH W +1 e fere = 2
TN AR AW -1 @ g1 W Wh faseq) | |1 = WM feed (o)
—lexy£+1€}‘TH q o =+/144 =12
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